Signal Transduction Pathway
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"A signal transduction is a way for the body to respond to messages sent from other parts of the body.  This is a form of LONG DISTANCE communication"

Step 1: "A ligand cannot enter the cell but it can bind to a receptor.  I am showing how the ligand, epinephrine binds to the G protein of a liver cell. " Put the ligand on the exterior of the G-protein.

Step 2: "The binding of the ligand causes a conformation change to the subunits on G-protein. The alpha subunit will move to a protein called adenlyl cyclase." Move the alpha subunit to the adenylyl cyclase.

Step 3: Adenylyl cyclase is now ready to convert ATP into cAMP.  Take off 2 phosphates from ATP and make cAMP.

Step 4: cAMP goes to protein kinase.  The kinase gets phosphorlylated.  The relay race between kinases is called a phosphorylation cascade which is transduction.  cAMP and ATP goes to kinase and changes it.

Step 5: The signal activates transcription and this will cause a response inside the cell such as breaking up glycogen and releasing glucose. Kinase enters into nucleus and starts transcription.  Glycogen is broken into glucose.
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